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FHAERT 99 106 115 221|Fn FHET 199 165 169 334|FkET— T H 263 240 163 403 | KT 273 312 321 633
R 192 178 207 385 IATHA 12,384 11,617 12,625 24, 242|%AT =T H 173 164 126 290 | K HERT 657 802 876 1,678
JEHT 435 393 474 867 WT=TH 126 139 132 271 KIEHX 3,680 4,273 4,446 8,719
T 713 721 739 1, 460 |l ERT 242 248 271 519|#kET Y T H 66 42 49 91
b BHT 309 291 319 610| IR T 3,816  3,902| 3,955  7,857| INHBHEX 9,931 10,136 9,920 20, 056 |Fa[ A T 377 464 459 923
T 262 223 224 447 |Figfar BT 180 195 225 420 BT 243 312 344 656
)T 111 115 119 234|%& HHIT 486 481 480 961 [Hr T 1,211 1,479 1, 450 2, 929|5iET— T H 506 522 557 1,079
KAGHT 630 587 569 1, 156|7LAHT 3,747 3,933| 4,081 8, 014|H{R M hHET 356 398 429 827 (I LT =T H 224 229 255 484
BT 16 9 14 23| FLRmT 3,441 3,577| 3,679 7, 256|HRAT 1,633 1,666 1,784 3, 450[4R/|NE=MT 611 671 7000 1,371
E= 201 51 44 50 94|:Z BRMT 592 596 632 1, 228| H T 1, 150 1,328 1, 308 2,636 (L4 0] 1,578 1,883 2,034 3,917
Fn T 216 223 265 488| i BT 1,396 1,512 1,582 3,094 HrEnBHIX 4,350 4,871 4,971 9,842| m/\IEHLX 3,539 4,081 4, 349 8, 430
Aeimmy 90 61 58 119| KA 156 161 178 339
JUTREHT 194 202 230 432 H SGHT 346 405 491 896 | -2 H] 2,890 2,934 3,162 6,096 shHT 452 466 516 982
LI 127 100 87 187 HRIT— T H 365 377 394 7T R\AKHT 1,199 1,296  1,214] 2, 510|3ikHT 297 342 346 688
AT 66 58 66 124 ERIT =T H 492 532 499 1, 031/N\AKHT 1,256) 1,396 1,426 2, 822| & HET 737 778 818/ 1,596
TFIHET—T H 149 152 152 304| R ERIT="TH 505 558 545 1, 103|EMSEmT 459 541 569 1, 110{ 3 rp HLRT 227 275 276 551
TRIEET =T H 119 137 118 255| HCERATIY T H 305 323 396 TI9|MZRTPE— T H 50 45 24 69| &% HhmT 1,180 1,378/ 1,410/ 2,788
TRAHET =T H 124 121 118 239 R HX 16,069 16,800 17,408 34, 208|[M =8 T H 109 99 92 191 | BT 720 863 912| 1,775
TATHETY T A 139 153 161 314 R —TH 323 229 318 547( st 3,613 4,102 4,278 8, 380
TRIHETE T H 22 20 3 23| JE T 3,741 3,942 4,120 8, 062|MEHT T H 30 32 30 62
HEFAmT 460 422 487 909| Fy [T — T H 278 309 351 660 ([ IT =T H 20 12 18 30/ Fr 2 BT 5,769 6,168 6,394 12,562
FI4RAT 24 19 20 39| [T T H 583 596 668 1, 264([ZHETPY T H 125 125 124 249 |E JLRT 208 273 301 574
TTHT 173 165 206 ST R T =T H 887 869 963 1, 832| 4L HT 1,939 2,080 2,224 4,304] AEEFHIX 5,977) 6,441 6,695 13,136
AT 29 19 29 48| SF M 1,642 1,659 1,768 3,427 HIHIX 8, 400 8, 789 9,201 17,990
AT 182 157 203 360| Fe kAT 1,482 1,461 1,553 3,014 PN/ 397 433 482 915
ENINTE 509 477 528 1, 00552 A W] 193 186 191 377( 4 F-hmT 460 413 557 970| 5 H T 530 622 618 1,240
YRR 27 20 23 [N\ TRET—TH 525 523 505 1, 028| &Il AT 2,322 2, 360 2,431 4, 791 J= BT 643 788 741 1,529
T 81 61 72 133\NTFARET =T H 357 344 373 TI7| TR T 240 306 321 627 | 74 5 |T 144 153 145 298
HEAHT 40 38 52 9N TFAHET=T H 484 504 540 1, 044|shEnRT 996 1,030/ 1,070 2, 100|#KJ5HT 620 745 750 1,495
[T 320 238 293 531\ THRETIN T H 387 407 449 856 | FRERHT 545 629 613 1, 242| % B HT 373 417 382 799
=1 160 150 172 322|  FrlE X 10,559 10,800 11,481 22, 281|HJE=H] 378 396 450 8467t [ 44 i 539 654 662 1,316
ST 2L 594 598 599 1,197 AL 2,375 2, 750 2,804 5,554 B f X 3,246 3,812 3,780 7,592
LAl 26 27 24 51| Ly BpRT 2,330 2,511| 2,650/ 5, 161|#7HIAT 152 198 195 393
# LT 506 489 547 1,036 BFEERT 43 42 49 91| J\igEHEX 7,468/ 8,082 8,441 16,523 -iEHT 271 352 356 708
i 23 31 27 58| b JEHET 3,625/ 3,758 3,756 7,514 TR THT 152 188 199 387
RS RLET 227 199 175 374|ALBHERT 344 370 439 809 | k- & |y 1,281 1,427 1, 440 2, 867 T 7 HIAT 166 212 218 430
JEHT 166 161 157 318|ZHT 710 702 711 1, 413| T & my 1,853 2,098 2,135 4, 233| FyEHT 417 495 505/ 1,000
AT 389 355 387 T42( FYEEFHT 1,333 1,629 1,613 3, 242 i BT 826 851 947 1, 798| T 333 446 419 865
Eakiiy==tg 21 17 22 39| Tz ImT 1,672 1,939 1, 896 3, 835 | L ALRHET 457 456 515 971 | Va ks FMT 404 487 444 931
A AR HT 1,606 1,605 1,775 3, 380| T HEHT 1,079 1,235 1,224 2,459 [ X 4,417 4, 832 5,037 9, 869 J\ IR JLH] 390 462 481 943
R T 184 173 180 353 | Hr ik PRT 404 454 457 911 i) 1 H X 2,133 2,642 2,622 5, 264
gzl 146 131 159 290 FFEIT—T H 573 623 601 1, 224|#hHET 479 553 592 1,145
[l 181 154 164 318|EHT T H 1,305 1,212 1,442 2, 654 |4 HimT 463 576 609 1, 185 AHIMr = & 468 532 507 1,039
B oThT 194 186 227 413 TPEET =T H 621 662 726 1, 388|ALHTIL T 168 192 203 395 | A BHIMT HE FH 395 437 435 872
EN) 162 133 151 284|HEHETIY T H 654 668 719 1, 38747 /7M1 141 184 189 3T3| AR A TE 183 200 204 404
JEATEAT 110 79 62 141 BFERT 983 1,019 1,046 2, 065 |1k IH] 1,205 1,375 1, 450 2, 825| A PAMTEK 112 128 145 273
N 352 377 446 823 |11 FH % HHT 643 633 559 1, 192|FEHTIE AT 372 431 469 900 | A BHIMT )11 7AE 338 341 369 710
L 240 185 230 415| =B H X 16,319 17,457 17,888| 35, 345| % HIHT 439 508 512 1,020 ALK 1,496 1,638/ 1,660 3,298
|11 FH T 111 92 103 195 Fldgmy 258 324 329 653
T 100 82 96 178| /N B HT 795 847 915 1,762 REFHIX 3,525 4,143 4, 353 8, 496 | FEARMT VG I = 715 807 862 1, 669
PU 7 T 37 40 36 76| L/ NERT 489 573 625 1,198 FEYBIT 4 U 93 106 118 224
GaeLlE 43 41 42 83| LR 2,965 2,924 2,730 5,654 FAEAT 1,273 1,381 1,407) 2, T88|FEARHTFAZ IR 300 194 181 375
FEELIT 99 84 69 153| T/ ESHT 2,218 2,239 2,238 4,477|f5 KHEAT 310 377 377 T5A| FEABIT 1,013 1,226| 1,276/ 2,502
HAEHT 252 257 284 541| /T 1,465 1,532 1,482 3, 014 |4RIRr AT 700 857 899 1, 756 FEARMT A = 415 494 514 1,008
FERAHT 347 296 321 617 | HLHEAT 1,371 1,436/ 1,460  2,896| F KJEMT 467 544 566 1, L10|ZE4RMT |2 1,439 1,645/ 1,697 3,342
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FEHRMT T 784 929 967 1, 896 & H-HT /1M 146 193 194 387
FEYBIT 5 ] 334 449 448 897| & FHHT L1 240 286 295 581
BT 215 251 225 476 & FHT AR 497 626 606 1,232
BT 1L 155 182 211 393| H T 279 321 319 640
FEYBHT )1 425 493 513 1, 006 & H:HT th 601 755 713 1, 468
FEYBIT o B 6 5 5 10| & HHT % 422 535 530, 1,065
FEYBHTFIARR 973 1,263 1,250 2, 513| HHT % 96 126 130 256
FEHBHT A5 1,778 2,004 2,204 4, 208[ 7 FH-MT 32 41 42 83
FEHRHL X 8,645 10,048 10,471 20, 519| & HHTHI{R 303 385 385 770
E AT 230 185 213 398
Aty 3,688 4, 440 4, 580 9, 020 H-MT A 35 45 42 87
JEFHHET 1,648 1,914 2, 054 3, 968 HMT AR 10 8 14 22
Ly 557 746 803 1, 549 HFHIT Lt B 380 475 447 922
By 197 242 252 494| EHFHTERIR 47 62 66 128
Filaduf 15 0T 303 328 320 648 | HHT A 1 147 179 169 348
Ky 136 161 169 330 & T 149 195 206 401
% T FH AT 72 88 102 190| & M7/ R 346 415 427 842
S[E Sy HT 253 358 370 728 HMT g 119 157 162 319
TG[E 5y HT 243 332 317 649 FHTE 192 217 206 423
Bl 408 435 429 864 HHT/INAE 217 275 271 546
TorE BT 3,433 4,146 4,168 8, 314|E HHHTIEjEE 581 715 696 1,411
AT 1, 652 1,989 2,029 4, 018[FH MR — T H 341 381 378 759
= SRHT 826 1,016 1,026 2, 042|HEHMTF I T H 392 430 461 891
rhR T 1,472 1,632 1,668 3,300 HMTE G =T H 299 413 402 815
T 1,323 1,455 1,489 2, 94475 HHT IR 327 374 405 779
v ELHT 468 566 591 1, 157| & T T BLF 96 120 119 239
R FH AT 643 839 820 1, 659| & H-HT_E B 136 180 156 336
JE T 515 609 645 1, 254 FEHBTIK O 59 73 72 145
TG H X ,837) 21,296 21,832 43,128 HIHLX 9,906 11,842 11,930 23,772
iy 677/ 5,902| 6,207 12,109
IR LIRS 677/ 5,902| 6,207 12,109
e HET 097 1,254 1,320 2,574
P T 896 786 924 1,710
s T 451 525 520 1,045
e Ly 89 49 77 126
BT 34 27 44 71
R BT 390 530 546 1,076
T RLET 003 1,162 1,185 2, 347
v L LT 714 842 886 1,728
R ELEET 021 1,189 1,200 2,389
AGRHE] 877 1,079 1,061 2,140
T 701 841 869 1,710
FIE T 178 217 208 425
+ 3T 185 221 231 452
ERET 321 400 396 796
=Y A-RAT 106 112 112 224
AT 123 148 140 288
Hedn X 8, 186 9, 382 9,719 19,101
E T I 677 745 7720 1,517
T H 1,183 1,302 1,343 2,645
EFHH] T RAR 295 349 335 684
AT AR 1,032 1,279 1,354 2,633 WA F 167,357 182,986/ 189,314/ 372,300




